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2X3 65,000 0 65,000 | & AH& AFS I 0 0 0
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HXl=z 2= 7,942,757 7,027,655 915,102 | 0l XI =2 8,840,390 8,030,000 810,390
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Al 6,664,544 6,555,490 109,054 | & Al 6,664,544 6,555,490 109,054

0 0 0|HIE A AFHHI 113,620 90, 160 23,460

0 0 0| BAHEAEHI 70,000 100,000 A30,000

0 0 0|l 2A| 0 0 0

1,800 900 900 | Jl=&Hl 0 0 0

T 0 0 O|IE= 0 0 0
6,503,890 6,384,131 119,759 | KXl = 6,480,924 6,365,330 115,594

0 0 O| XL =Rci=ete 0 0 0
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20,000 44,000 A24,000| J1EHKI & 0 0 0
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210 o &ALl 139,654 127,059 12,595
216 Ol Kt==¢& 139,654 127,059 12,595
216-01 &30 =0l k= 138,854 126,459 12,395
OAtzl=XIAIE EDl=2 230= 0lXk
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OXEMg Z2=0= 0lXkt 90,345,000& = 90,345
O=XAtE EIIMZ Ol 27,426,000& = 27,426
216-02 QItEXt=3 800 600 200
Oo2teXt3a a0t 800,000& = 800
220 SAIEA LI+ 20,000 44,000 A 24,000
224 JIEt==% 20,000 44,000 224,000
224-06 12/=+¢ 20,000 44,000 A24,000
Oll&=g= & JIE=¢ 20,000,000& = 20,000
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Oas8XZ sl 1,000,000& = 1,000
714 O Xl=3 = 6,503,890 6,384, 131 119,759
714-01 OIXI=2=2 = 6,503,890 6,384,131 119,759
OAt2l =S XA 1,035,479,000& = 1,035,479
OXte At 3,761,031,000& = 3,761,031
Ok =X ALY 1,707,380,000& = 1,707,380
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OSAZDEHIIIZ KXl 544,753,0008 = 544,753
X = g A 544,753 417,720 127,033
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=== = =S | (0xEa) I Ne]l A0 AHL | AFQIH| (%0123 2I34E | 2388 | [ =
2014 DK 14,247 0 0 0 0 0 1,117 13,130 0 0 0 0 0 0 0 14,247
201549 & 50,302 50,000 0 0 0 0 302 0 0 0 0 0 0 0 0 50,302
20169 & 80,991 80,000 0 0 0 0 991 0 0 0 0 0 0 0 0 80,991
201749 % 82,441 80,000 0 0 0 0 2,441 0 0 0 0 0 0 0 0 82,441
2018 < 84,002 80,000 0 0 0 0 4,002 0 0 0 0 0 0 0 0 84,002
20194 & 125,591| 120,000 0 0 0 0 5,591 0 0 0 0 0 0 0 0| 125,591
20209 & 107,179| 100,000 0 0 0 0 7,179 0 0 0 0 0 0 0 0| 107,179
Al 544,753 | 510,000 0 0 0 0| 21,623 13,130 0 0 0 0 0 0 0| 544,753
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